Data Displays     -     Answer Key     -      Section 10.3
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. The shape of a skewed disti
will have a ail on one sde. |
shape of a symmetsic distibution is
when the data on the leftare a mirror
image ofthe data on the ight.

1o the right; on the eft

S rr—

7
4

symmetric

. skewed right

8. skewed leit





image2.tmp
‘skewed right

o Ot of P oy

SEE L

symmetric

Jones County: The distribution of
Jones County s skewed right, so most
of the data values are on

the left
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10. symmetric; The data on the leftis a
‘miror image o the data on the ight.

1. no; Distributions can have any shape.

12. yes; Sample ansuwer: Use intervallengths that
represent what each stem represents, When
the stem-and-leaf plot has most o its values
o the bottom, the distribution is skewed left
because when the data s placed in.a ot piot
or histogram, most of the data values will be:
on the right. When the stem-and-leaf plot is
amirrorimage on the top and bottom for the
‘numbers of values, the distribution is symmetric
because when the data s placed in:a ot plot or
histogram, the data on the lef will be a mirror
image o the data on the right. When the stem-
‘and-leaf plot has most of s values on the top,
the distribution is skewed right because when
the data s placed ina dot plot or histogram,
‘mostof the data values will be on the lft.

B =

skewed right

ISP

Both distrbutions are skewed rght.The orginal donation
disribution is more skewed ight than th distribution
when the increases are acded fo the dontions. Somme of
the dats vaues moved into difierent intervals wher S35
‘added o ach donation. which s why the distributions arc
‘ot exactly the same.
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1. See Taking Math Deeper.

15. median = 70: Q, = 655:Q, = 75 1QR
=95

16, median = 37.5:Q, = 30:Q, = 44 IR
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